Please review my solution to the problem and explain in detail what I may be doing wrong and what concepts I may not be applying correctly.  
A particle undergoes uniform circular motion of radius 26.1 μm in a uniform magnetic field.  The magnetic force on the particle has a magnitude of 1.60 x 10-17 N.  What is the kinetic energy of the particle?
We know:

r = 26.1 μm = 2.61 x 10-7 m
F = 1.60 x 10-17 N

q = 1.6 x 10-19 C
KE = .5mv2 

F = mv2/r

Electron mass = 9.109 x 10-31 kg

(QUESTION, CAN I ALWAYS PRESUME A PARTICLE HAS THE PROPERTIES OF AN ELECTRON UNLESS THE PROBLEM STATES OTHERWISE?)

Solution:

F = mv2/r

1.60 x 10-17 N = v2/(2.61 x 10-7 m)

v = 2.044 x 10-12 m/s

KE = .5mv2
KE = .5(9.109 x 10-31 kg)(2.044 x 10-12 m/s) 2
KE = 9.309 x 10-43 J
